Math 251: Derivative Proficiency October 16, 2019

Name: /12

e There are 12 points possible on this proficiency: one point per problem with no partial credit.

You have 30 minutes to complete this proficiency.

No aids (book, calculator, etc.) are permitted.

You do not need to simplify your expressions.

Your final answers should start with f/(x) =, dy/dx = or something similar.

your final answer.

1. P(6) =cos(36*—36+1)

) a(, smn(3 0*-364+ D) (’2 93’73)

3. j(x) = (x*) sec(x)
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7. f(v) = arcsin(\/v) = arCSIh( V/Z)
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8. f(x) = (2x+ 1)tan(x)In(7x)

£6) = 2 4an st In(12) + (20+) sede ) + (2t HanX (%c)@

9. h(z) = zIn(cz) 4 ¢* (where ¢ is a constant)

h (D= Inkd)+2 (E@@
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= 9 csex

10. F(x) = sing(x)

F(¥) = - 9eotresex

1+¢€
11. g(t) = Tre

4= W ORE é)eae’)
(+ &™)*

12. Compute % if cos(x? +y?) = 5xy. You solve for %'

~Sin( xz-lb)') (Zx +Zj %) = 53* 5x dg_?(
-ZxSmsz-tf'B —243 Slh(xz-l";‘]z) %i = 63 4’57‘%
.JxSmsz-l-@ -5 4 = é’j Sin(¥* 4'32) *57;5%
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